[#RC 2]

TH2EE BHEBE FIWFH HME (MR

|2 AR [xeA®)=RR| H B 2 = X O % % | IASE | XHeE | £3BS
TH2E10A18|99 #EE (ArHGER 1,201,772 1,201,772
65 H2E10A48 (1 RAEHARE |FF2F10AAVI K (KKIR) FFEXE 1,370| 1,200,402
66 TH2F10A58|7 BRERE |FM2F10A DRI —ZHK =T I7AFURBA R 46,656| 1,153,746
67 H2E10A108 |1 REHRE |[FME10ADHVIAREIR) FRIEXE 1,300| 1,152,446
3 | smesi0fsAl0 Rte  |TITIOA~ IPABBERRCS X ) g, 900,000 2,052,446
68 SM2E10A178(1 HAEHEE |SF2E510A KA VI RER) axka 1,750 2,050,696
69 TH2E10A208 |7 BFMERE |FH2F10AFRSFAXERERN  INTTO7/F0 Rt 24 5,623| 2,045,073
70 HH2E10A268 |8 BHBAE |FM2E10A 2 ETEHE FEtoa—)IE 4,400( 2,040,673
71 THM2F10A29B8 |8 BHBAR (SF2E10A M F#HE ASAJIlTEH R 4,037| 2,036,636
72 24108300 (8 BHEAE (SF2E10A 252K HEEX 1,887 2,034,749
73 TH2EF10A308 |1 REHRE |SHM2F10R 7V RCFERE) FRREE 3,000| 2,031,749
74 HH2E10A308 |1 REHRE |FM2E1087 V) R(KIE) ARERAIRE 2,100| 2,029,649
75 TH2E11A48 |7 ERMERE [SM2F 11 AR —XK =T IFAF A% R 46,656 1,982,993
76 SM2E11A108|7 BHMERE |17y RE ARAFHER) |(BEEREZIEHASH 55,550 1,927,443
77 TH2F11A148(1 AEHRR |[FH2FE11AAV ) RKE) IRERMRGE 900 1,926,543
78 TF2&E11A258(1 REHARE |SM2E11AAVIORER) FPREXE 2,910 1,923,633
79 THM2F11A268|8 BHBAR [SF2511 AN ERSTHE otz 2l 4,400 1,919,233
80 SM2E11A278 (8 BHEAR (ST2&11 A S WFHHE ASAJIIFEF R 4,037| 1,915,196
81 TH2EF11A288|1 REHRE |FMENAHVIVR(KEIR) FRREE 1,530 1,913,666
82 SM2E11A298 (1 RAEHRERE |SF2E11 AAVILRERR) BEABR®E). 2Xka 1,680 1,911,986
83 TH2E11A298 |1 REHRE |FFNRAHAVIVRCEIR) RREE 1,280 1,910,706




[#RC 2]

TH2EE BHEBE FIWFH HME (MR

|2 AR [xeA®)=RR| H B i & X ok % | BARE | XheE | 23RS
84 TH2E12A18|7 ERMERE (SE—RHKIEHL BHOFEEE 5,060 1,905,646
85 THM2F12A28|8 BHEAE |Hf2411 A AHHHE HEEX 1,887| 1,903,759
86 THM2F12A38 |7 BERERE |FM2F12A DRI —ZK =T I7AFURBA R 46,656 1,857,103
87 T2E12A208 |1 REHRE |[FM2E12AH VI RKEKIR) FRIEXE 1,590| 1,855,513
88 TH2E12A208 |1 REHRE |SM2F12R75V) R (KED ARERHRTE - FREE 2,190 1,853,323
89 THM2F12A218|7 BRMERE |[SF2F12ABKRAFAXERERR  INTTO7A U RA S 5427 1,847,896
90 TH2&12A21H |8 EHBAR |SM2F12A K HaHE gt a—]IlE 4,400 1,843,496
91 TH2F12A230 |8 BHBAE |SF125128 AHFHEM FEREX 2,096| 1,841,400
92 T2E12A258 |1 REHRE |FF2F12RHVIVRCEIR) FRFAEX 1,030 1,840,370
93 H2&E12A268 |1 REHRE |FM2E12RH VI REE) axbka 2,490 1,837,880
94 TH2F12A280|8 BHBAR (SN2 12ANHF#HE ASAJlIFEH R 4,037| 1,833,843
95 TF2%E12A308(1 REHARE |SM2FE12RA VI RER) FREXE 3,000 1,830,843
BEt] 2,101,772] 270,929] 1,830,843




